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1 C) The Place is away from equator and tilt of the earth 1 

2 Meaning of Latitude: (½) 
Southernmost latitude: 84’N (½) 

1 

3. The Green Revolution in the late 1960s introduced the Indian farmer to cultivation of 

……………… using high yielding varieties (HYVs) of seeds 

A. Wheat and Rice  

B. Potato and sugarcane 

C. Jowar and bajra. 

D. Oats and Barley 

1 

4.   jowar and bajra 

 

1 

5.  Which of the following statements is suitable to Estonia? 

A. Russian minority find it difficult to get the right to vote 

B.  the polling booths were shifted from one place to another in the last minute 

C. All those who were employed in government offices had to attend its party meetings 

D. Until 2015, women did not have the right to vote 

1 

6.  Institutional Revolutionary Party 

 

1 

7.   

Tithe is A tax levied by the church, comprising one-tenth of the agricultural produce 

Taille  is a Tax to be paid directly to the state 

 

2 

8.  

Subsistence crisis – An extreme situation where the basic means of livelihood are 

endangered 

 The population of France rose from about 23 million in 1715 to 28 million in 1789. This 

led to a rapid increase in the demand for foodgrains.  

 

 Production of grains could not keep pace with the demand. So the price of bread which 

was the staple diet of the majority rose rapidly. 

 

3 



 Most workers were employed as labourers in workshops whose owner fixed their 

wages. But wages did not keep pace with the rise in prices. So the gap between the poor 

and the rich widened.  

 Drought or hail reduced the harvest 

[Any two 

9.  

 Until 2000 every election was won by a party called PRI (Institutional 

Revolutionary Party). Opposition parties did contest elections, but never managed to 

win. The PRI was known to use many dirty tricks to win elections.  

 All those who were employed in government offices had to attend its party 

meetings. Teachers of government schools used to force parents to vote for the PRI. 

Media largely ignored the activities of opposition political parties except to criticise 

them.  

 

 Sometimes the polling booths were shifted from one place to another in the last 

minute, which made it difficult for people to cast their votes. The PRI spent a large 

sum of money in the campaign for its candidates 

 

3 

10.  1.  

Modern Farming  

 Follows modern methods of farming  

 One crop on a single piece of land during the period  

 Using hyv seeds chemical fertilizers ,pesticides and modern technology  

 High productivity  

 Not environment friendly  

Multiple Cropping  

 Follows traditional  methods of farming  

 More than one crops on a single piece of land during the period  

 Using traditional seed ,that requires less irrigation ,primitive methods . 

 Low productivity  

 Environment friendly  

[any one] 

2. multiple cropping  

3. Yield is measured as crop produced on a given piece of land during a single season 

3 

11. India’s contacts:  
1. These contacts have contributed in the exchange of ideas and commodities 

since ancient times. 
2. The ideas of the Upanishads and the Ramayana, the stories of Panchatantra 

thus could reach many parts of the world 
3. The spices, muslin and other merchandise were taken from India to 

different countries. 
4. On the other hand, the influence of Greek sculpture and the architectural      

styles of dome and minarets from West Asia can be seen in different parts of 

our country. 

Any three points=3 marks 

3 
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